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Process improvement by using work study technique
* By Mr. Komkrit Nissai

Mr. Samai Namwong

ABSTRACT

This project is to study for productivity improvement in the process of sewing of the Apparel
factory. The casc study is T-shirt style 74900. The IE techniques arc applicd to solve problem such as,
work study by using the time study at production line; etc. Then we concentrate at line A2 because of it
has the most percentage of defect that come {rom human error problem of sewing process

From the result, the percentage of efficiency at line A2 is increased from 26.91% to 33.78% and

the production line has more efficiency.




